Limits, Continuity, and Derivative Definition Derivative Rules
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The volume of a cone of radius » and height h is given by 17 =%Irr2h . If the radius and the height
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both increase at a constant rate of — centimeter per second, at what rate, in cubic centimeters per
-

second, is the volume increasing when the height is 9 centimeters and the radius is 6 centimeters?
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Function Analysis
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What is the x-coordinate of the point of inflection cn the graph of ¥ =%x3 +5x%+247
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The absclute maximmm value of f(x) = x° —3x° +12 on the closed interval [—2:4] OCCUMS at x=
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For what value of kwill x+— have a relative maximum at x=-27
X

A B) 2 <y 2 D) 4 (E) None of these
Answer: D
4,

4 5

The derivative of f(x)= .r? _x? attains its maximum value at x =
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Answer: C
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The graph of the derivative of f 15 shown in the fizure above. Which of the following could be the
graph of f7
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Find all critical points. Which of these points is a relative maximum?

Answer: Critical: x=-3,3,0 Relative maximumatx=0



